At 2te| it
Aol Olef JiX
AtRIZe] E85t EER=E)
SA - ZE - BR(3) - HRA - B of v e HIDE2
2|t 82,020,625 59,977,006 22,043,619
= 43,930,837
[ 14,854,170
ES 267,200
== 22,968,418
DI2H IRl M (s CoE 81,943,961 59,901,656 22,042,305
= 43,907,386
a 14,854, 170
ES 267,200
== 22,915,205
el 83t X 106,025 69,910 36,115
= 67,000
[ 39,025
Ol XIES AXIEN 14,000 13,200 800
201 et=ay 9,200 9,200
01 At 22| 9,200 9,200
OtHX 2|2 23 9,200
202 04| 4,800 4,000 800
01 =LHOLI 4,800 4,000 800
OdHXI2el & [S7AIY = 4,800
SANHBHR = 4,000 5,760 A1,760
202 04l 4,000 5,760 21,760
01 2LHoIH 4,000 5,760 21,760
(OFZOPNRSE=q 4,000
A=8 Z2EE=2 D el =1 1,950 1,950
201 et 1,200 1,200
01 At 2| 1,200 1,200
(OFSFAESgal 1,200
202 04| 750 750
01 =LHOLI 750 750
os¥Es 750
STMIF OIS ZAE(=1) 82,075 49,000 33,075
= 67,000
== 16,075
403 AHXIEEH 82,075 49,000 33,075
= 67,000
< 16,075
01 A= 2L 82,075 49,000 33,075
OA M= It 82,075
= 67,000
= 15,075
STV E=FSESINELION 4,000 0 4,000
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SA A2
A Ao Dlch KX M2 (=8l ea=a/ tE
chel: A XI2el =83 X3 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
201 er23| 3,000 3,000
01 At2teltl 3,000 3,000
oudoIgdExF XNE ¥ 24 3,000
202 04 1,000 1,000
01 =LHOHI 1,000 1,000
OAHHEX SXEMN X 2E 1,000
st HoHoN e X1 67,637,499 52,011,750 15,625,749
= 33,319,740
= 14,854,170
EN 267,200
=S 19,196,389
AEAIE =8 2 XZ2(2D)(2E) 17,237,299 9,964,122 7,213,177
= 12,066,109
== 5,171,190
201 Ler23| 10,000 10,000 0
= 7,000
< 3,000
01 AtR2t2|HI 10,000 10,000 0
OAHEAIE =4 & FXI2e 10,000
= 7,000
= 3,000
401 Al HIZL S 0HYI 17,227,299 9,954,122 7,273,177
= 12,059,109
=S 5,168,190
01 Al&H| 16,890,600 9,733,575 7,157,025
OAREH 5,670,000
= 3,969,000
< 1,701,000
OtHg =92 11,106,000
= 7,774,200
= 3,331,800
OAIZAIE HEEX] 114,600
= 80,220
=S 34,380
02 Zeltl 300,000 189,000 111,000
OAZAIE &4 300,000
= 210,000
& 90,000
03 Al 20HHI 36,699 31,547 5,152
OAIZAIE =4 36,699
= 25,689
= 11,010
FUAIE 28 & |X22(=1) 21,885,500 21,421,400 464,100

- 674 -




S AR
M AL DI JHR| HID (S A/ - AE)
Chol: ARRITHENONE XIS (e

>

[

SA - B GR(31) - HIRAY - BES ol by e HlmS2

= 16,835,000
= 5,050,500

403 XX SHHSKH=01A 21,885,500 21,421,400 464,100
= 16,835,000
= 5,050,500

01 AtXIEtHAH22 £ 21,885,500 21,421,400 464,100
O&ERIALEY 2,948,400
= 2,268,000
= 680,400
oA"Y AX 16,152,500
= 12,425,000
& 3,727,500
OU=SHAILEHEX] 1,811,810
= 1,393,700
= 418,110
(OFN3== RIS EIN 546,000
= 420,000
& 126,000
oMz (EL) 426,790
= 328,300
= 98,490

AZAIE BOF 2 HA(ZD)(HA) 556,062 491,205 64,857
= 389,243
= 166,819

401 AIEHIZ 2018 556,062 491,205 64,857
= 389,243
& 166,819

01 AlEHI 556,062 491,205 64,857
OHEEHN BtA&E™It 117,660
= 82,362
& 35,298
Ot A2 EtZ 88t 90,000
= 63,000
= 27,000
OAtSY EtEEEOL 278,462
= 194,923
& 83,539
OU=SHEAILY EtZ2&E Dt 9,000
= 6,300
= 2,700
OAIZEAIE 22tEH 60,940
= 42,658
= 18,282
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SA: srE el
M MO Olef JHX M (SEaHL=a/UY - AE)

=aak &ngéHOIIIE’S A& (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
AAIE Ot & FA(=1) 553,314 569,584 26,270
= 425,619
== 127,695

308 AXIMSOIA 553,314 569,584 26,270
= 425,619
< 127,695

01 MAHHBSEEXS 553,314 569,584 26,270
OArZE 22E& 216,016
= 166,166
= 49,850
OoAgd ZEE8H 155,298
= 119,453
=S 35,845
OAtZE oHM NI 182,000
= 140,000
& 42,000

APAMEY 24 AKX AEHZANR D) 546,000 455,000 91,000
= 420,000
= 126,000

308 XtXIEMSO0IE 546,000 455,000 91,000
= 420,000
=S 126,000

01 XN B2 LS 546,000 455,000 91,000
OLIAIEY 2l LA XIS MEf A 546,000
= 420,000
[ 126,000

AETHOH L Kt SHOI(AAMEHE ZHO e (2 1) 638,759 625,168 13,591
= 440,204
= 198,555

308 XM SOIH 638,759 625,168 13,591
= 440,204
= 198,555

01 RSN EES 638,759 625,168 13,591
OALAIEHSH Z 0l 2 =t 638,759
= 440,204
== 198,555

672 FES? 2 HE DOt MEIH=EFR(Z ) 3,422,471 0 3,422,471
= 2,743,565
= 678,906

403 AXIEHMSA=01d 3,422,471 0 3,422,471
= 2,743,565
= 678,906

01 XM A=E £ 3,422,471 0 3,422,471
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2A:

At 2te| it

= &%4 Ol JHXI M (sE8aesa/AY - &)
Rl ME K0 X (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OLHALERTIIBN S 3,422,471
= 2,743,565
== 678,906
SAE(>EY)(=2D)(HE) 27,143 22,857 4,286
[ 19,000
= 8,143
201 et 3| 27,143 22,857 4,286
[ 19,000
= 8,143
01 A2l 27,143 22,857 4,286
OSEEIGLEI AR 27,143
s 19,000
=S 8,143
A AIE(X=2)(=1) 18,014,135 14,948,630 3,065,505
= 14,835,170
& 3,178,965
403 AXIEHMSA=Z0l1d 18,014,135 14,948,630 3,065,505
[ 14,835,170
= 3,178,965
01 AXIEHM A= E £ 18,014,135 14,948,630 3,065,505
(OFdFal=ti= 12,279,355
[ 10,112,410
= 2,166,945
Ott=deteg e 5,734,780
= 4,722,760
< 1,012,020
ST AL (HEALY) 4,485,296 3,384,427 1,100,869
308 AtXIEHMSOIE 766,059 715,919 50,140
01 HAHHBHEXS 766,059 715,919 50,140
oY aeld(HE) 766,059
403 AXIEHMSA=201H 3,719,237 2,668,508 1,060,729
01 AR A =2 £ 3,719,237 2,668,508 1,060,729
ORZME (M &) 2,475,898
oY== (d8) 1,127,205
OMBEH (X&) 116,134
SHALEHH S 20F AIE = 4,320 3,600 720
202 04| 4,320 3,600 720
01 2LHA b 4,320 3,600 720
OLAEITHS SR =8 4,320
STAIE &E 23 267,200 135,757 131,443
E 267,200
403 AXIEHMSA=01d 267,200 135,757 131,443
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2A:

ste2e| 1t

et

Aol Dlch DXl M (=sEoi A/

M Al o . AHE)
e Ao X CEREED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2

EN 267,200

01 MHXIHHA 222 267,200 135,757 131,443
g2 5=y 129,600
e 129,600
o2 ATAIZE X 137,600
ES 137,600

AEEd 28 2t 5,710,284 6,639,214 928,930
= 4,628,286
< 1,081,998

AHEHSEM (=) (HE) 10,000 10,000 0
= 5,380
& 4,620

201 ger=2 3| 5,000 5,000 0
= 2,880
= 2,120

01 At2t2l] 5,000 5,000 0
ouEMS LA 5,000
= 2,880
S 2,120

202 04l 5,000 5,000 0
= 2,500
& 2,500

01 =LHOHI 5,000 5,000 0
oMt EHS LA 5,000
= 2,500
= 2,500

AHEHSLM(Z ) (FD) 3,968,827 4,465,662 A496,835
= 3,386,756
S 582,071

308 XtXIEMSO0IH 3,968,827 4,465,662 A496,835
= 3,386,756
s 582,071

01 XN BSELES 3,968,827 4,465,662 AN496,835
Ot Eali S Al 3,968,827
= 3,386,756
< 582,071

OlseExzA2H(20) 182,910 474,448 A291,538
= 140,700
= 42,210

308 AFAIEHMSOIH 182,910 474,448 A291,538
= 140,700
S 42,210

01 XN B SELES 182,910 474,448 A291,538
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SA A2
A MO Dl JHA M (S8 - &E)
&Rl AtEEE 28 2 (EEREE))
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
201 er23| 3,300 3,600 A300
01 At2teltl 3,300 3,600 A300
OFs+ &% 2Y 3,300
403 MR HHMSAHE01H 115,500 180,000 /64,500
01 MXIHH A =222 115,500 180,000 64,500
O=254 Jdl 115,500
MEES TS 2 2,880 2,400 480
202 04| 2,880 2,400 480
01 =LHOLI 2,880 2,400 480
olglEs oz Y AEESHS 2,880
ot MENH HAd 3= 8,490,153 1,180,782 7,309,371
= 5,892,360
== 2,597,793
Jlelast MEUESE ALY 105,158 146,782 N41,624
101 @124H| 23,938 24,752 AB14
MU IIRIMZZENSES 23,938 24,752 AB14
OYEIIEAIE 22lelE =Y 23,938
201 ger=3y| 16,800 19,000 A2,200
01 At 2t 14,200 16,000 21,800
OdH=ax=Nt 23 & 3dE835 78 S 14,200
02 35244l 2,600 3,000 2400
O2RIIEAE 2 2,600
202 04l 8,880 7,400 1,480
01 =LHA LI 8,880 7,400 1,480
OMH=SAFAC 319 U HHEQ S 8,880
206 MH=H| 5,000 10,000 /5,000
01 M=4l 5,000 10,000 /5,000
OZRIIErAIE 22| XHM 5,000
401 AIEHIZ SR OHYI 50,540 70,630 220,090
01 Al&HI 50,000 70,000 220,000
OMHULAIE &I - 2= 50,000
03 A2 CHYI 540 630 A0
OMHHTAIE EX| - 2= FA 540
sEISEIL Uy Al EE std2el 25,000 30,000 25,000
401 AIZHIX SO 25,000 30,000 /5,000
01 AlZH| 25,000 30,000 /5,000
OLZIIAEINE HIEQSMZAIE A 2l 25,000
olel&at AMMEISR AFYE(2D) 8,066,000 1,004,000 7,062,000
= 5,646,000
= 2,420,000
401 AIEHIZ SR 0HYI 8,066,000 956,300 7,109,700
= 5,646,000
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SA A2
A Ao Dl JHX MDD (sEoHL=a/Y - AE
Rl A dEH A8 215 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 2,420,000
01 A28l 7,487,000 937,000 6,550,000
OJfe|E At MEUEHSE AL 7,487,000
= 5,240,700
= 2,246,300
02 2/l 560,000 13,000 547,000
OJte|Eat MSUEHFE AL 560,000
= 392,000
= 168,000
03 AIE 2 THYI 19,000 6,300 12,700
OJfe|Eat MSAESE AL 19,000
= 13,300
S 5,700
AEMHSR BEd BOHZA)(F D) 3,634 0 3,634
= 3,220
= 414
308 XtXIEMSO0IE 3,634 0 3,634
= 3,220
s 414
01 XN B2 LS 3,634 0 3,634
Ottgd &J 3,634
= 3,220
[ 414
MEHMES (ME)(=12) 4,108 0 4,108
= 3,640
= 468
403 AXIEHHSAH=201H 4,108 0 4,108
= 3,640
= 468
01 AR A =2 £ 4,108 0 4,108
OMSUEH=E AL 4,108
= 3,640
== 468
MEMESE 2ULEHE(S)(HE) 76,000 0 76,000
= 53,200
= 22,800
201 et 3| 76,000 0 76,000
= 53,200
= 22,800
01 At22t2lt] 76,000 0 76,000
OtEdE=E 2LIEE 76,000
= 53,200
=S 22,800
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S AR
M HARAZH| (A2l (OIEH/DIE
chol: ol (19 @)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
< 907
M BRA(RIAHL) 22N BEERE=3 S 2,789 2,570 219
032 22N BEE(0I2RE) 2,789
= 1,882
== 907
=ZH| 41,910 42,527 AB17
FA2E J|I22H| 41,910 42,527 AB17
201 L2 28,970 30,119 AT1,149
01 AtR2telb] 28,970 30,119 1,149
SA2Y AtR2tel] 28,970
202 OH| 8,740 8,208 532
01 2L AL 8,740 8,208 532
ORMEE =UHOYI 8,740
203 BR8] 4,200 4,200
04 FAE2EERFAH 4,200 4,200
©25¢! 0lat 4,200
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